OO00O0O: CCNAUOOOOO1OCisco OO0 PDFO OO
Odo00o00o0ooooooon
https://www.100test.com/kao_ti2020/563/2021 2022  E9 A2 98
E5 BA 93 E7 B2 BE E9 c¢101 563587.htm O 00 00O 00O O
Jodododooooooooooooooooodgo
OJo00o00o0do0liooooooooooooooooo
1) Match the following application layer services to their
corresponding transport layer protocol port. (1 U 0O 0O O O O O
O00000000000000)0 A.SMTP1. TCP/23B.
FTP2. TCP/25C. TFTP3. TCP/80D. Telnet4. TCP/21E. HTTP
5. UDP/69 F. DNS 6. TCP/53 2) Which OSI reference model layer
does Telnet functionat (Telnet O OO OSID OO OOON)
[ A. Transport B. Network C. Session D. Application 3) How
many layers does the TCP/IP protocol suite have, compared to the
OSl referencemodel (U OSID OO OOOOTCPRP/IPOOOO
0 0O)O A. TCP model has 4, OSI model has 6 B. TCP model has 7,
OSI model has 8 C. TCP model has 4, OSI model has 7 D. TCP
model has 7, OSI model has 4 4) The TCP/IP protocol suite has a
formal session layer that includes NetBIOS[ RPCs and TLI
functions (TCP/IPOD D O OOOOONetBIOSORPCOTLI
OO0O000000000)d A.TrueB. False 5) What is the
function of RPCs (RPCL O O 0O O OO )0 A. To move files from
remote PCs to a local PC B. To make remote function calls
transparent, so they appear to be local C. To initialize a program on a
remote PC D. To send a procedure that is local to a remote node for
processing elsewhere 100Test 1 D O U OO0 0D OO0 OO0 OOO
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